Moisture content loss data from Chapter 3.3

PEG at T= 0 hours

Sample 1 at T=0

Sample 2 at T=0

Sample 3 at T=0

Sample 4 at T=0

Sample 5 at T=0

125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00 —
75.00 75.00 75.00 75.00 75.00
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Sample 6 at T=0 Sample 7 at T=0 Sample 8 at T=0 Sample 9 at T=0 Sample 10 at T=0
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
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1 2 3 1 2 3 1 2 3 4 5 1 2 3 1 2 3 4 5
Sample 11at T=0 Sample 12 at T=0 Sample 13 at T=0 Sample 14 at T=0 Sample 15 at T=0
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
o o o o )
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Craig
Moisture content loss data from Chapter 3.3


SDS at T= 0 hours

Sample 16 at T=0

Sample 17 at T=0

Sample 18 at T=0

Sample 19 at T=0

Sample 20 at T=0

125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) Q
H H H H =
50.00 -] 50.00 -] 50.00 {1 - 50.00 50.00
25.00 25.00 25.00 25.00 25.00
0.00 0.00 0.00 0.00 0.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 1 2 3 4 5
Sample 21 at T=0 Sample 22 at T=0 Sample 23 at T=0 Sample 24 at T=0 Sample 25 at T=0
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 -] 75.00 75.00 75.00
o o o 2 o
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
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1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 1 2 3 4 5
Sample 26 at T=0 Sample 27 at T=0 Sample 28 at T=0 Sample 29 at T=0 Sample 30 at T=0
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
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= = = = =
50.00 50.00 50.00 50.00 50.00
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Control at T=0 hours

Sample 31 at T=0

Sample 32 at T=0

Sample 33 at T=0

Sample 34 at T=0

Sample 35 at T=0

125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
o o o o o
H H H H H
50.00 50.00 ] 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
0.00 0.00 0.00 0.00 0.00
1 2 3 1 2 3 4 1 2 3 4 5 1 2 3 1 2 3
Sample 36 at T=0 Sample 37 at T=0 Sample 38 at T=0 Sample 39 at T=0 Sample 40 at T=0
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 7500 |—] 75.00 75.00 75.00
o o 2 Q o
H H H = H
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
000+ 0.00 e 0004 000+ 0.00 [}
1 2 3 1 2 3 4 1 2 3 4 5 2 3 1 2 3
Sample 41 at T=18 hours Sample 42 at T=0 Sample 43 at T=0 Sample 44 at T=0 Sample 45 at T=0
125.00
125.00 125.00 125.00 125.00
To000 100.00 100.00 100.00 100.00
7800 75.00 75.00 75.00 75.00
9 o o o o
H H H H H
5000 50.00 50.00 50.00 50.00
2500 25.00 25.00 25.00 25.00
000+ 0.00 1 000+ 0004
1 2 s 1 2 3 4 5 1 2 3 4 5




PEG at T=18 hours

12500

Sample 1 at T=18 hours

Sample 2 at T=18 hours

Sample 3 at T=18 hours

Sample 4 at T=18 hours

Sample 5 at T=18 hours

12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H g g
s000 5000 5000 s000 5000
200 200 200 200 200
2 s B 4 2 s B 2 B 2 B 2 B 4 s
Sample 6 at T=18 hours Sample 7 at T=18 hours Sample 8 at T=18 hours Sample 9 at T=18 hours Sample 10 at T=18 hours
12500 12500 12500 12500
12000
0.0
7500 7500 7500 7500
g g g g g
® 600 H H H H
5000 5000 5000 s000
w000
200 200 200 200
2000 1 ]
| L - 1 ool 11 o0t
2 s B 1 2 B 4 2 B 2 B 2 B 4 s
Sample 11 at T=18 hours Sample 12 at T=18 hours Sample 13 at T=18 hours Sample 14 at T=18 hours Sample 15 at T=18 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H g g g
5000 s000 s000 s000 5000
200 200 200 200 200
o0t o0t o0t o0t o0t
2 B 4 s 1 2 B 4




SDS at T=18 hours

12500

Sample 16 at T=18 hours

12500

Sample 17 at T=18 hours

Sample 18 at T=18 hours

12500

Sample 19 at T=18 hours

Sample 20 at T=18 hours

12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g g g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
2 3 4 5 2 3 4 1 2 3 4 5 2 3 2 3 4
Sample 21 at T=18 hours Sample 22 at T=18 hours Sample 23 at T=18 hours Sample 24 at T=18 hours Sample 25 at T=18 hours
12500 12500 12500 12500 12500
| ___ 4 — 10000 1
7500 7500 7500 7500 7500
H H g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
2 3 4 5 2 3 4 1 2 3 4 5 2 3 2 3 4
Sample 26 at T=18 hours Sample 27 at T=18 hours Sample 28 at T=18 hours Sample 29 at T=18 hours Sample 30 at T=18 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
L1 1 1 000! Ll 1 1 000!




Control at T=18 hours

Sample 31 at T=18 hours Sample 32 at T=18 hours Sample 33 at T=18 hours Sample 34 at T=18 hours Sample 35 at T=18 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g g g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
2 3 4 5 2 3 4 5 1 2 3 4 5 2 3 1 2 3 4 5
Sample 36 at T=18 hours Sample 37 at T=18 hours Sample 38 at T=18 hours Sample 39 at T=18 hours Sample 40 at T=18 hours
12500 12500 12500 12500 12500
7500 7500 7500 7500 7500
H H g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
000! 1 000! 1 L L 1 1
2 3 4 5 2 3 4 5 1 2 3 4 5 2 3 1 2 3 4 5
Sample 41 at T=18 hours Sample 42 at T=18 hours Sample 43 at T=18 hours Sample 44 at T=18 hours Sample 45 at T=18 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
Ll 000! Ll 1 000! 000+
2 3 4 5 2 3 4 5 1 2 3 4 5 2 3 4 1 2 3 4 5




Sample 1 at T=54 hours

PEG at T=54 hours

Sample 2 at T=54 hours

Sample 3 at T=54 hours

Sample 4 at T=54 hours

Sample 5 at T=54 hours

125.00 125 125.00 125 125.00
10000 100 10000 100 10000
7500 7 7500 7 7500
H H H g H
5000 50 5000 50 5000
2500 2 2500 2 2500
15 000 | 000
1 2 s 1 2 s 1 2 s 4 5 1 2 3 1 2 3 4 s
Sample 6 at T=54 hours Sample 7 at T=54 hours Sample 8 at T=54 hours Sample 9 at T=54 hours Sample 10 at T=54 hours
120 12000 120 12000 120
100 10000 100 10000 100
0 8000 80 000 0
H H H H H
e 5 oo s e 3 oo e
W 000 ) 4000 W
E 2000 2 2000 Y
ol = 11 ool ol
4 2 3 4 1 2 3 4 1 2 s 4 s 1 2 s 4 1 2 s 4 s
Sample 11 at T=54 hours Sample 12 at T=54 hours Sample 13 at T=54 hours Sample 14 at T=54 hours Sample 15 at T=54 hours
12000 120 12000 120 12000
10000 100 10000 100 10000
000 80 000 8 000
g g g g H
3 oo 3 e 3 o0 : e ® o000
000 “ 4000 W 4000
2000 2 2000 2 2000
000 000 000
4 2 3 4 2 s 4 1 2 s 4 s




SDS at T=54 hours

Sample 16 at T=54 hours

Sample 17 at T=54 hours

Sample 18 at T=54 hours

Sample 19 at T=54 hours

Sample 20 at T=54 hours

120 12000 120 12000 120
100 ] 10000 100 10000 100
80 8000 50 8000 80
) 000 0 4000 o
2 2000 20 2000 2
ol
2 3 1 2 3 4 B N A s 1 2 3 1 2 3 4 5
Sample 21 at T=54 hours Sample 22 at Sample 23 at T=54 hours Sample 24 at T=54 hours Sample 25 at T=54 hours
12000 12000 120 12000
10000 100 10000 ] 100 10000
8000 50 8000 8 8000
2 oo fo 2 oo feo 2 oo
000 s 000 w0 000
2000 2 2000 2 2000
0004 o4 e —— L o4 000
2 3 1 2 3 4 1 2 3 4 5 2 3 1 2 3 4 5
Sample 26 at T=54 hours Sample 27 at T=54 hours Sample 28 at T=54 hours Sample 29 at T=54 hours Sample 30 at T=54 hours
120 12000 120 12000 120
100 10000 100 10000 100
0 8000 5 000 80
I o fo 2 oo e
) 000 “ 4000 “
2 2000 2 2000 2
o4 000+ o 0004 o4
2 3 A 1 2 3 4 1 2 3 4 5




Sample 31 at T=54 hours

Control at T=54 hours

Sample 32 at T=54 hours

Sample 33 at T=54 hours

Sample 34 at T=54 hours

Sample 35 at T=54 hours

12000 120 12000 120 12000
10000 100 ] 10000 100 10000
8000 £ 8000 £ 8000
000 w0 000 w0 000
2000 20 2000 2 2000
000 000
1 2 3 4 2 3 1 2 3 4 5 4 2 3 1 2 3 4 5
Sample 36 at T=54 hours Sample 37 at T=54 hours Sample 38 at T=54 hours Sample 39 at T=54 hours Sample 40 at T=54 hours
120 12000 120 12000 120
100 10000 ] ] 100 10000 100
£ 8000 8 8000 8
I o I fan e
w0 4000 w0 2000 m
20 2000 20 2000 2
o+ 0+ 000! 0+
1 2 3 4 1 2 3 4 1 2 3 4 5 4 2 3 4 1 2 3 4 5
Sample 41 at T=54 hours Sample 42 at T=54 hours Sample 43 at T=54 hours Sample 44 at T=54 hours Sample 45 at T=54 hours
12000 120 12000 120 12000
10000 100 10000 100 10000
8000 £ 8000 8 8000
4000 w0 4000 w0 4000
2000 2 2000 20 2000
0004 ol 000 ol 000
1 2 3 4 4 2 3 4 1 2 3 4 5




PEG at T=168 hours

Sample 1 at T=168 hours

Sample 2 at T=168 hours

Sample 3 at T=168 hours

Sample 4 at T=168 hours

Sample 5 at T=168 hours

12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H H H g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 000+ 000 o 000
1 2 3 1 2 3 1 2 3 1 2 3 4 2 3 4 s
Sample 6 at T=168 hours Sample 7 at T=168 hours Sample 8 at T=168 hours Sample 9 at T=168 hours Sample 10 at T=168 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H g H H
5000 5000 5000 50.00 5000
2500 2500 2500 2500 2500
0004 000 0004 000
2 3 4+ 2 3 1 2 3 2 3 1 2 3 4 5
Sample 11 at T=168 hours Sample 12 at T=168 hours Sample 13 at T=168 hours Sample 14 at T=168 hours Sample 15 at T=168 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
¢ H H g H
5000 5000 5000 50.00 5000
2500 2500 2500 2500 2500
0004 000+ 000 0004 000
2 3 4 2 3 4 1 2 3 4




SDS at T= 168 hours

Sample 16 at T=168 hours

Sample 17 at T=168 hours

Sample 18 at T=168 hours

Sample 19 at T=168 hours

Sample 20 at T=168 hours

12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H g H g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
Ll [ — 000
4 2 3 4 s 1 2 3 4 5 4 2 3 4 5 1 2 3 1 2 3 4 5
Sample 21 at T=168 hours Sample 22 at T=168 hours Sample 23 at T=168 hours Sample 24 at T=168 hours Sample 25 at T=168 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H H g H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 000 0004 000
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 2 3 4 1 2 3 4 5
Sample 26 at T=168 hours Sample 27 at T=168 hours Sample 28 at T=168 hours Sample 29 at T=168 hours Sample 30 at T=168 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g g g g g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 000+ 000 000! 000
4 2 3 4 5 1 2 3 4 5




PEG at T=528 hours

Sample 1 at T=528 hours Sample 2 at T=528 hours Sample 3 at T=528 hours Sample 4 at T=528 hours Sample 5 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 s 7 7 7
H H H H H
50 50 50 50 50
2 2 2 2 2
o4 o4 o4 o4 o
1 2 3 4+ s 1 2 3 1 2 3 4 5 1 2 3 2 3 4 5
Sample 6 at T=528 hours Sample 7 at T=528 hours Sample 8 at T=528 hours Sample 9 at T=528 hours Sample 10 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 7 7 7 7
g H H H g
50 50 50 50 50
% 2 2 2 2
o4 o4 o4 o
2 3 4 5 2 3 4 1 2 3 4 5 2 3 4 2 3 4 5
Sample 11 at T=528 hours Sample 12 at T=528 hours Sample 13 at T=528 hours Sample 14 at T=528 hours Sample 15 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 7 7 7 7
H H H H H
50 50 50 50 50
% 2 2 2 2
o4 o4 o4 o4 o
2 3 4 5 1 2 3 4 1 2 3 4 5 1 2 3 4 2 3 4 5




SDS at T=528 hours

Sample 16 at T=528 hours

Sample 17 at T=528 hours

Sample 18 at T=528 hours

Sample 19 at T=528 hours

Sample 20 at T=528 hours

125 125 125 125 125
100 100 100 100 100
7 7 7 7 7
g H H H H
50 50 50 50 50
% 2 2 2 2
o4 o4 o4 o4 o
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 21 at T=528 hours Sample 22 at T=528 hours Sample 23 at T=528 hours Sample 24 at T=528 hours Sample 25 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 7 7 7 7
g H H H g
50 50 50 50 50
% 2 2 2 2
o4 o4 o4 o
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 2 3 4 5 1 2 3 4 5
Sample 26 at T=528 hours Sample 27at T=528 hours Sample 285 at T=528 hours Sample 29 at T=528 hours Sample 30 at T=528 hours
125 125 125 125 125
100 100 100 100 100
s 7 7 7 7
H H H g H
50 s0 50 50 50
% 2 % 2 2
ol o4 o4 o AJ[:]AA,A[:]AA,A[:]Agrg[:]ggrg[:]gﬁ o4
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Control at T=528 hours

Sample 31 at T=528 hours

Sample 32 at T=528 hours

Sample 33 at T=528 hours

Sample 34 at T=528 hours

Sample 35 at T=528 hours

125 125 125 125 125
100 100 100 100 100
s 7 7 7 s
H H H H H
50 50 50 50 50
% 2 2 2 2
o AJ[:]AA,A[:]44,4[:]44,4[:]44,4[:]4ﬁ o 4JE:1AﬁAJ::lgigl::lA?AI:]ggrg[:]Aﬁ ol ol ol
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 s
Sample 36 at T=528 hours Sample 37 at T=528 hours Sample 38 at T=528 hours Sample 39 at T=528 hours Sample 40 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 7 7 7 7
g H H H g
50 50 50 50 50
% 2 2 2 2
oAJ[:IA?A[:]Aﬁg[:]gﬁgJ[:lgig[:]Aﬁ o4J[:l474[:]AﬁAJ[:IA?A[:]Aﬁg[:]Aﬁ ol ol ol
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 2 3 4 5
Sample 41 at T=528 hours Sample 42 at T=528 hours Sample 43 at T=528 hours Sample 44 at T=528 hours Sample 45 at T=528 hours
125 125 125 125 125
100 100 100 100 100
7 s 7 7 7
H H H H H
50 50 50 50 50
% 2 % 2 2%
oAJ[:LﬁAI:]AﬁA[:]A?A[:IAfJ:]Aﬁ oAJ:]AﬁAJ:]AﬁA[:]A?A[:14?J[:Lﬁ oAJ:]AﬁAJ:]AﬁA[:]4?4[:147J[:[ﬁ ol ol
1 2 3 4 5 1 2 3 4 5




PEG at T=720 hours

Sample 1 at T=720 hours

Sample 2 at T=720 hours

Sample 3 at T=720 hours

Sample 4 at T=720 hours

Sample 5 at T=720 hours

12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H H H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 0004 000 0004 000
1 2 3 4 s 1 2 3 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 6 at T=720 hours Sample 7 at T=720 hours Sample 8 at T=720 hours Sample 9 at T=720 hours Sample 10 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
g H H H g
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 0004 000 000
1 2 3 4 5 2 3 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 11 at T=720 hours Sample 12 at T=720 hours Sample 13 at T=720 hours Sample 14 at T=720 hours Sample 15 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H g H H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
0004 0004 000 000+ mﬂ_ﬂ_,_D_,_D_,_&
1 2 3 4 5 2 3 4




Sample 16 at T=720 hours

SDS at T=720 hours

Sample 17 at T=720 hours

Sample 18 at T=720 hours

Sample 19 at T=720 hours

Sample 20 at T=720 hours

12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
] ] ] ] ]
s000 s000 s000 s000 5000
2500 2500 2500 2500 2500
I ool o oo o
| > s f s | 2 s f s | 2 s f s | > s f s | 2 s f s
Sample 21 at T=720 hours Sample 22 at T=720 hours Sample 23 at T=720 hours. Sample 24 at T=720 hours Sample 25 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
] ] ] ] ]
s000 5000 s000 s000 5000
2500 2500 2500 2500 2500
000 ool o oo QDDD__D__D__D_J:L
2 s f s | 2 s . s | 2 s f s | 2 s f s | 2 s f s
Sample 26 at T=720 hours Sample 27 at T=720 hours Sample 28 at T=720 hours Sample 29 at T=720 hours Sample 30 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H g H
s000 5000 s00 5000 s000
2500 2500 2500 2500 2500
| 2 s f s ; 2 S - s | 2 s p s




Control at T=720 hours

Sample 31 at T=720 hours

Sample 32 at T=720 hours

Sample 33 at T=720 hours

Sample 34 at T=720 hours

Sample 35 at T=720 hours

12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H H H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 36 at T=720 hours Sample 37 at T=720 hours Sample 38 at T=720 hours Sample 39 at T=720 hours Sample 40 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H H H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 41 at T=720 hours Sample 42 at T=720 hours Sample 43 at T=720 hours Sample 44 at T=720 hours Sample 45 at T=720 hours
12500 12500 12500 12500 12500
10000 10000 10000 10000 10000
7500 7500 7500 7500 7500
H H H H H
5000 5000 5000 5000 5000
2500 2500 2500 2500 2500
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5




PEG at T= 1200 hours

Sample 1 at T=1200

125.00

Sample 2 at T=1200

Sample 3 at T=1200

Sample 4 at T=1200

Sample 5 at T=1200

125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
o ) ) ) )
= = = = =
® ® ® ® ®
50.00 50.00 50.00 50.00 50.00
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1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 6 at T=1200 Sample 7 at T=1200 Sample 8 at T=1200 Sample 9 at T=1200 Sample 10 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 11 at T=1200 Sample 12 at T=1200 Sample 13 at T=1200 Sample 14 at T=1200 Sample 15 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5




SDS at T=1200 hours

Sample 16 at T=1200

Sample 17 at T=1200

Sample 18 at T=1200

Sample 19 at T=1200

Sample 20 at T=1200

125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 21 at T=1200 Sample 22 at T=1200 Sample 23 at T=1200 Sample 24 at T=1200 Sample 25 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 26 at T=1200 Sample 27 at T=1200 Sample 28 at T=1200 Sample 29 at T=1200 Sample 30 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5




Control at T=1200 hours

Sample 31 at T=1200

Sample 32 at T=1200

Sample 33 at T=1200

Sample 34 at T=1200

Sample 35 at T=1200

125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 36 at T=1200 Sample 37 at T=1200 Sample 38 at T=1200 Sample 39 at T=1200 Sample 40 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
o ) ) ) o
= = = = =
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50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
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1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
Sample 41 at T=1200 Sample 42 at T=1200 Sample 43 at T=1200 Sample 44 at T=1200 Sample 45 at T=1200
125.00 125.00 125.00 125.00 125.00
100.00 100.00 100.00 100.00 100.00
75.00 75.00 75.00 75.00 75.00
) ) ) ) )
= = = = =
= = = = =
50.00 50.00 50.00 50.00 50.00
25.00 25.00 25.00 25.00 25.00
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